Mathematics
Extension 1

General Instructions

Working Time = 45 mins.
‘Wiite using a blue ot black pen.
Approv%d calculators and teriplates may
be used.

o All iscessary working should be stiown for
every question.

o Begin each guestion on a frésh sheet of
paper.

OLSH Kensington Preliminary Extension 1 Task ~ 2008

o Attempt Questions 1-2.

o All questions are of equal value ®

i

e Quéstion 1 (15 marks)
2008 (8 marks)
PRLEIMINARY HIGHER SCHOOL CERTIFICATE (2)  Fill in the missing Wotds (wtits the imissing word on atiswer paper).
ASSESSMENT 2 ()  Baual arcs on circles of equal radii subtend equal . at the cetre.
(i) © Equal angles at the cefire stand oni equal .
(i) - The perpendicular from the centre of a eircls to a chord . fhe chiotd
(%)  The litie joining the cenite 1o the riidpoitit of & cliord is fo this chotd:
(v)  Equal chords in equial circles are from their centres.
(vi)  The anglé at the éenire of & circle is the angle at the circumference.
(vil)  Afigles in the sarie segment standing on the same arc are .
(vi) The angle in a semi-circleis .
(ix)}  Opposite angles of a cyclic quadrilateral are .
(x)  The exterior angle of a cyclic quadrilateral is equal to .
Total marks (30)
!

T e e

The points O and P are centres of the two equal circles and are d cm apart. The two circles

ineet at S and T.
()  Shdw that ASOP is equilateral

(i)

Shqw that angle SOT is 120°,




OLSH Kensington Preliminary Extension 1 Task - 2008

Question 2 (15 marks)

@

(b)

OLSH Kensington Preliminary Extension 1 Task - 2008
(©) State the reasons (i), (ii), (iii), (iv) in the steps of the following proof.

Prove: BC || ED
The points A, B and C lie on a circle with centre O. Proof: e S @
The lines AO and BC are parallel, and OB and AC intersect at D. 0 .
ZLABC + LEBC =180"w.vvveuvrnenn (i)
Also, ZACB=26" and £BDC =", as shown on the diagram. .
ZEBC + ZEDC =180" ......vveenn. (dii)
Copy or trace the diagram into your Writing Booklet. . JABC = ZEDC
- LACB = ZADE
i State why £4OB =52° 1
® rewy S#BC || ED wvevininine (iv)

(i) Find y. Justify your answer.

(@  Find the value of the pronumerals. Give reasons for your answers.

PQRS is a cyclic quadrilateral. X and ¥ are two points on the circle. Point Zis the

intersection of PY and SR, ZSXY =29° and ZPQR =110°. Find the size of ZSZP , giving
reasons for your answer.

110°
7
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END OF PAPER
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X) the Jnyeror angle

1) /£ hoB =82 26 X2 ( € af ceprie & fwice sat arcameerencs)

P DoP = 05 e”7PAA (adii of dreley

., LACB = B2°

£& 5 =D Lraot of oo

ﬁ) LAOR =52°

U ASAR-Ts-equikareral

I 4@%@; T2 (alf £'s)

&) .Ps= os~c3\> eradi of ercies )

L0V 0

D /gt s (30 ~92-26 (Lsum ofA)

frs .

A SOP [ eq,wlwemi

= 102°

'“ocnsm,c‘rf“v‘Y Qg OT

b) Z5SPgY=12q°( t'sin =ame segyment)

s

i) PO = 8T = PT (s0dii of drcle)

r. ARST s enuiareral

el 2l = 60°

£L¥PSZ= 700 (_A&m:n%@memnﬂt{wﬁﬁ FAN T gg %gw}
_LSZP= (80 70 -2Q° (Lsumof &) !

oy

2879 = g(° | —

. POT=80°
\$ A sSop s enuitarercy C) £ABC = £pCB(vase 's ofisoscles D), &
D . L SoPs @0° (hBed LERC =180° (£ sum of svrarghr Une) . £
suPP\ementan

2 SOT =@ot_n8net S0P v LPOT

={Z° QO°T00°

LZEPBC v LEDC: 1BO° (Opp t's ol cyclic Qa adr ireral mre%%)
LhBC= LEDC

= \0°

S. L RCB = Lﬁ'DG‘
. pol 6D (esapropiertiis mwespond{ngisg LANCB = LHDE)%%IL

) Le- - so°(Ls tn SaMe  seqment) P
£Q@° = qe° (lsin same scgment) g
Q° T B = (30 -9q0° (opp £'s oQ yalc quad ofe equal) 2

qO°+bo = qob
b = S0°
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mestion 2.(d) wonr>>-

er @mrners ©f quae quaddiatea| ek B.C, D

L BOD = AD0 - DO-UO ([ Lsuw at A)

= Qo

. £.ROC=QO° et obp le)

de = 180 - Go- To© (tsumol )

ol

10°

L o° = 40° (Lsw the Some segment 7 af® eq‘uQ\ D)
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